Section Description CPMS Pir	t: Buffalo Grove Road Patching n: 16-00249-04-RS n: HMA Patching, Replacing Turn n: B-01325 e: 5/17/2016	Summary of Bids Received	d			
Bidder J. A. Johnson Paving Company Chicagoland Paving,Inc. Lorig Construction Company A Lamp Concrete Contractors, Inc. Peter Baker & Son Company	Address 1025 E. Addison Court 225 Telser Road 250 East Touhy Avenue 1900 Wright Blvd 1349 Rockland Road	City, State, Zip Arlington Heights, IL 60005 Lake Zurich, IL 60047 Des Plaines, IL 60018 Schaumburg, IL 60193 Lake Bluff, IL 60044	Bond Bid Bond Bid Bond Bid Bond Bid Bond Bid Bond	Bid Price \$306,425.23 \$319,996.03 \$334,308.03 \$349,255.20 \$431,642.43	% Over/Under Eng. Estimate -10.50% -6.53% -2.35% 2.01% 26.08%	\$ Over/Under Eng Estimate -\$35,936.8 -\$22,366.0 -\$8,054.0 \$6,893.1 \$89,280.3
Engineer's Estimate				\$342,362.06		
Design	IDOT(2)	Contract Bidder		PJT then Plan Rack		
Finance	Bid Tab File	Resident Eng.		Administrative Assis	stant	
Construction	Project File	_ Request By Mail		Mgr Capital Prograr	nming	

Return Bid Tabulation

Project: Buffalo Grove Road Patching

Section: 16-00249-04-RS

Description: HMA Patching, Replacing Turn Lanes and HMA Shoulders

CPMS Pin: B-01325

Let Date: 5/17/2016

Item No.	Pay Code	Description	Quantity	Unit	Engineer E	stimate	Chicagoland F	Paving, Inc.	J. A. Johnson Pa	ving Company	Lorig Construc	tion Company	A Lamp C Contract		Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	35101400	AGGREGATE BASE COURSE, TYPE B	30.00	TON	\$50.00	\$1,500.00	\$25.00	\$750.00	\$35.00	\$1,050.00	\$88.00	\$2,640.00	\$40.00	\$1,200.00	\$18.00	\$540.00
2	40600290	BITUMINOUS MATERIALS (TACK COAT)	3,103.00	POUND	\$0.02	\$62.06	\$0.01	\$31.03	\$0.01	\$31.03	\$0.01	\$31.03	\$0.40	\$1,241.20	\$0.01	\$31.03
3	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	38.00	TON	\$175.00	\$6,650.00	\$100.00	\$3,800.00	\$250.00	\$9,500.00	\$145.00	\$5,510.00	\$325.00	\$12,350.00	\$272.00	\$10,336.00
4	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	473.00	TON	\$150.00	\$70,950.00	\$69.00	\$32,637.00	\$111.00	\$52,503.00	\$150.00	\$70,950.00	\$113.50	\$53,685.50	\$101.00	\$47,773.00
5	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	552.00	TON	\$175.00	\$96,600.00	\$230.00	\$126,960.00	\$119.00	\$65,688.00	\$170.00	\$93,840.00	\$200.00	\$110,400.00	\$262.00	\$144,624.00
6	44000100	PAVEMENT REMOVAL	466.00	SQ YD	\$25.00	\$11,650.00	\$10.00	\$4,660.00	\$31.25	\$14,562.50	\$50.00	\$23,300.00	\$20.00	\$9,320.00	\$17.00	\$7,922.00
7	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	896.00	SQ YD	\$6.25	\$5,600.00	\$4.00	\$3,584.00	\$19.70	\$17,651.20	\$28.00	\$25,088.00	\$20.00	\$17,920.00	\$10.00	\$8,960.00
8	44004250	PAVED SHOULDER REMOVAL	2,909.00	SQ YD	\$10.00	\$29,090.00	\$4.00	\$11,636.00	\$8.30	\$24,144.70	\$12.00	\$34,908.00	\$6.50	\$18,908.50	\$6.60	\$19,199.40
9	44201765 CLASS D PATCHES, TYPE II, 10 INCH 192.00 SQ YD		\$350.00	\$67,200.00	\$129.00	\$24,768.00	\$110.00	\$21,120.00	\$140.00	\$26,880.00	\$107.00	\$20,544.00	\$219.00	\$42,048.00		
10	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	500.00	FOOT	\$1.25	\$625.00	\$0.50	\$250.00	\$1.00	\$500.00	\$1.85	\$925.00	\$5.00	\$2,500.00	\$1.00	\$500.00
11	88600100	DETECTOR LOOP, TYPE I	75.00	FOOT	\$25.00	\$1,875.00	\$60.00	\$4,500.00	\$25.00	\$1,875.00	\$60.00	\$4,500.00	\$30.00	\$2,250.00	\$55.00	\$4,125.00
12	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$16,000.00	\$16,000.00	\$37,300.00	\$37,300.00	\$18,571.00	\$18,571.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$54,000.00	\$54,000.00
13	70038121	PORTLAND CEMENT CONCRETE SURFACE REMOVAL 2"	1,728.00	SQ YD	\$20.00	\$34,560.00	\$40.00	\$69,120.00	\$45.85	\$79,228.80	\$12.00	\$20,736.00	\$37.00	\$63,936.00	\$53.00	\$91,584.00
		Bid Total				\$342,362.06		\$319,996.03		\$306,425.23		\$334,308.03		\$349,255.20		\$431,642.43

Return Bid Details

Project: Buffalo Grove Road Patching

Section: 16-00249-04-RS

Description: HMA Patching, Replacing Turn Lanes and HMA Shoulders

CPMS Pin: B-01325

Let Date: 5/17/2016

					Engineer Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	35101400	AGGREGATE BASE COURSE, TYPE B	30.0	TON	\$50.00	\$1,500.00	\$18.00	\$88.00	\$41.20
2	40600290	BITUMINOUS MATERIALS (TACK COAT)	3,103.0	POUND	\$0.02	\$62.06	\$0.01	\$0.40	\$0.09
3	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	38.0	TON	\$175.00	\$6,650.00	\$100.00	\$325.00	\$218.40
4	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	473.0	TON	\$150.00	\$70,950.00	\$69.00	\$150.00	\$108.90
5	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	552.0	TON	\$175.00	\$96,600.00	\$119.00	\$262.00	\$196.20
6	44000100	PAVEMENT REMOVAL	466.0	SQ YD	\$25.00	\$11,650.00	\$10.00	\$50.00	\$25.65
7	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	896.0	SQ YD	\$6.25	\$5,600.00	\$4.00	\$28.00	\$16.34
8	44004250	PAVED SHOULDER REMOVAL	2,909.0	SQ YD	\$10.00	\$29,090.00	\$4.00	\$12.00	\$7.48
9	44201765	CLASS D PATCHES, TYPE II, 10 INCH	192.0	SQ YD	\$350.00	\$67,200.00	\$107.00	\$219.00	\$141.00
10	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	500.0	FOOT	\$1.25	\$625.00	\$0.50	\$5.00	\$1.87
11	88600100	DETECTOR LOOP, TYPE I	75.0	FOOT	\$25.00	\$1,875.00	\$25.00	\$60.00	\$46.00

		Bid Total				\$342,362.06			
13	Z0038121	PORTLAND CEMENT CONCRETE SURFACE REMOVAL 2"	1,728.0	SQ YD	\$20.00	\$34,560.00	\$12.00	\$53.00	\$37.57
12	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	LSUM	\$16,000.00	\$16,000.00	\$18,571.00	\$54,000.00	\$33,974.20